METG-5 5HBIR

Nr-RAN S S _ hay = =] 3 .
BB EBENEL —ARIVIZIRERE) ( A EE ) mindman
N + L N
FEREEA oty | DR 14T R 795 | TR
G P 11.5¢1
S Rl e |
) 52
i 4-M5x11 B 525
42
INl=r= ) o
@ ﬁ ° 1] 1 = ﬂ
C-C il
B A 95.5 Mx100 A 50 L 54 -
, N-M5x13 ¥ +04.4 il B I ‘ ET
- k— ¥ +
SR | A — - pall Rio RS
J .f ! ! . X _ _ : ‘*]“’ E B (|77 s
2-g5H7x7 % —C
955 | 100£0.02 3 \ 26'&0'03! 2
BT mm
1718 50 | 100 | 150 [ 200 [ 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800
L [270.5320.5]370.5]420.5|470.5(520.5[570.5]|620.5|670.5|720.5| 770.5[ 820.5 | 870.5 | 920.5 | 970.5 [1020.5]
A 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 [ 25 | 75 | 25 | 75
M 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8
N 6 6 8 8 [ 10| 10| 12| 12| 14| 14| 16| 16 [ 18 | 18 | 20 | 20
P 25 | 75 | 125 | 175 [ 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775
Fit (kg) | 2.23 | 242 | 2.62 | 2.82 | 3.01 [ 321 (341 | 36 | 38 | 4 |419 439|459 478498518
= BRI
. W5 EEL 1205 AT 79. = X
| BM_ I e o e 25| 1rise1
N 52.51
BSE T - -
52 4-M5x11 ¥ 525
116 42
[~
—
== = o
! ~|© . T S g
LT — I B
‘ C-C i
ey 175.5 - Mx100 A 50 ‘ 54 ‘
B i , o g NS 044 Ui T 8 ¢ i N
T ErEe———0 e [
] - - | S Y = i N N7 o~
— —
@SH7x7 ‘ ¢ 267:003| 27
175.5 P
FERERIRERA 130mm 7 -
BT mm
1712 50 | 100 | 150 | 200 [ 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800
L 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000
A 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 [ 75 | 25 | 75 [ 25 | 75 | 25 | 75
M 0 0 1 1 2 2 3 3 4 4 5 5 6 6 7 7
N 4 4 6 6 8 8 [ 10| 10| 12| 12| 14| 14| 16| 16 | 18 | 18
P 25 | 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775
HEh (kg)| 24 | 259|279 | 299 | 3.18 | 3.38 | 358 | 3.77 | 3.97 | 4.17 | 4.36 | 456 | 4.76 | 4.95 | 5.15 | 5.35
* P NYTIRE > DR A BT N R R - MEEEARYE PIN £L > WA T KEHAEBE AR -

M mindman

4-30



METG-5 s8I 5

BB BENEL — N ASCIRISERE) ( K BiE ) mindman  |&

L Py
B S AT TEGIRE; 120.5, AR 795 | WEBHAEIR }i}
YIELL W AT 116 1581 g
52.5+1 52 [E2
i}
<t 11 _ - -
0w | |
o © T = —=o
= T 4-M5x11 %
1 2-g3H7x6 %
42
‘ %
| | 2 )
Ty O i s m
HEHETR .
(== N lL[
75 Mx100 A 50 C-C i
. _ A 54
B FHi T E 1 NMsx13%+o4detm | B
1 ] - C . -
ST e —. e 0 i
| : —————————l4[3 SN o i B
2-65H7x7 ~C 2671003| 27
75 | 100£0.02 P \ !
B4 : mm
1712 50 | 100 [ 150 [ 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800
L 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 -
A 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 ft
M 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 53
N 6 6 8 8 | 10 | 10 | 12 | 12 | 14 | 14 | 16 | 16 | 18 | 18 | 20 | 20 %
P 25 | 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775 =
il (kg) | 24 [ 259 | 2.79 | 2.99 | 3.18 | 3.38 [ 3.58 | 3.77 | 3.97 | 4.17 | 4.36 | 4.56 | 4.76 | 4.95 | 5.15 | 5.35

2-g3H7x6 %
== 4-M5x11 %

. = \
= < S = 3
SV Ty s\ [ I s ——— ,§§
e B R i i AR L
52.5+1 ‘ 116 11541
WEIEE: 120.5} AT | 795
) \‘Q‘\
ﬁ' | FE‘H@ = S Eﬂ“
‘ ' il 18
HEAE C-C Z1hi
23y 75 Mx100 A _ 50 54
B i N-M5x13 7 +o4.4 E5 ‘ B .
— o -
R N | |
T - : Py Y Py = %—"%E | /A‘ <
——] 2-g5H7x7 —C 77,
o | I 26.710.03} 27
4
75 | 100£0.02 P
B mm

50 [ 100 [ 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800
250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 [ 700 | 750 | 800 | 850 | 900 | 950 | 1000
25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75

aq
v|Z|=|>|r |z

25 75 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775
it (kg) | 24 | 259 | 2.79 | 299 | 3.18 | 3.38 | 3.58 | 3.77 | 3.97 | 4.17 | 4.36 | 4.56 | 4.76 | 4.95 | 5.15 | 5.35

M mindman 4-31




	3_外觀尺寸
	4_外觀尺寸

